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Whiteboards:
1. 632.8 nm light illuminates 742 slits in a diffraction grating.  What is the smallest difference in wavelength difference from this wavelength that the grating can resolve in the first order? (0.853 nm)








2. 985 slits in a diffraction grating can resolve in its second order a wavelength difference of 0.350 nm.  What must be the wavelength of the light? (689.5 nm)
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State two changes to the graph on page 20 as a result of these modifications.

Adifiaction grating is used to resolve two lines in the spectrum of sodium in the.
second order. The two lines have wavelengths 588.995nm and 589 592nm.

Determine the minimum number of sis in the grating that will enable the two
lines to be resolved.





